H £ 0l & AF & S

Al A

20238 =0ila LB &ot=
SN MBS
B ABACAM BHE Y SEYA
el o=EOIEAE SliRtANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot it 51,588,579 46,990,718 4,597,861
= 17,052,000
== 2,147,000
Al 32,389,579
dotr=AlE 25 & =2 39,886,479 36,988,618 3,897,861
= 17,062,000
< 2,147,000
Al 20,687,479
A=I|BAIE STHSALY 3,479,776 3,483,715 23,939
= 8,000
Al 3,471,776
OlSa=SAIEMHE 2 E:A1Y 3,439,776 3,387,715 52,061
201 Ler=23 | 34,030 33,350 680
2 s5=34l 34,030 33,350 680
0 2322 2 HAl 17,980
O dot=E2bl 10,230,000& *13] 10,230
O KSXHA 350,000 «2CH 700
O Xsxt ZA= 25,0002 <2CH 50
O Uteds 228X =A - 22HS
100,000 #7094 2 7,000
O A2 EHI= X 4,350
O Dts&=+=ZAlE8 sXlz2teld]
145,000& x105+32] 4,350
O xt& - Aot 11,700
O &=k JISHE(FRU, UKL, A
2E4l) 11,700
SN 3,900,000 «3CH 11,700
202 04| 1,360 1,360
01 SLHoIH 1,360 1,360
O Disa=E AldE &2
20,0002 x4 17 1,360
206 M=l 9,000 9,000
01 M=4l 9,000 9,000
O DiS&==C HH2 X 2
500,000 x05+23] 9,000
307 @I2t01 & 500,000 500,000
05 2IR”tRIE = 500,000 500,000
O Otsa== |22 el
500,000,000& *14] 500,000
401 Al HIZL 01| 2,8%,386 3,344,005 A448,619
01 Al&H| 2,885,000 3,335,000 450,000
U DSd=k 28 E+3At
200,000,000 * 14 200,000




SN ABIE Dt
B ABACAM BHE Y SEYA
ol ASTI|EAIE S OISIALY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O OISY4E 326 S ASE|
75,000,000 *14] 75,000
O == 22 UHSA
150,000,000 14! 150,000
[ A5 8H) 2 JIEAIE E42A
90,000,000& * 14| 90,000
O DHEtel Feel(F3) AR234AE &5
SAt 400,000,000 * 14 400,000
O e -S4 A2r28AE e
A 400,000,000 %141 400,000
O KIS GItH121(O1tH) AR 224Ala f
S A 350,000,000& *14] 350,000
0 280 DIH2)(54) 273234AE WY
SA 300,000,000 * 14 300,000
O tHE S Sae|(SHH0l) 2 200 ARL2s
A& HSBAF 200,000, 00021 %14! 200,000
O S40 BE2(ATE) A7234A4
S A 350,000,000& *14] 350,000
0 "= =2J|&E =T e2E i
Y 0IZAIEZAL 80,000, 00024 3H 4 240,000
O ®4H2lAla SRzl
50,000,000& *14! 50,000
O 232358 92YX X &1
500,000 *200H A 10,000
O =ZotMAE 2 70,000,000 * 14 70,000
03 AIZ 2 THYI 10,386 9,005 1,381
O OISA+E AENY 2 24
2,885,000,000& +0.36/100 10,386
L2UEFAEESY 40,000 96,000 /56,000
[ 8,000
Al 32,000
401 AlEHIZL SO 40,000 96,000 /56,000
= 8,000
Al 32,000
01 Al&HI 40,000 96,000 /56,000
O =228 S+AE =l ulMSA
4,000,000& * 1094 40,000
= 8,000
Al 32,000
Olsat=AlE JHE & =22 752,663 3,145,663 A2,393,000
< 363,000
Al 399,663
MEardASA-THA 147,663 147,663 0
201 Ler23 | 138,863 138,863
01 At22t2lt] 138,863 138,863
0 get+=EH| 134,863




SN ABIE Dt
A ASITAIE &5 2 2
el DiEd=AIE g & =22 (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O OISsdsE 23 A =42 134,863
Kot=(111et=, &%)
75,000& x223 0 A *13] 16,725
ABR(6HES, B
32,0003 x7 I A %23 448
SINBMBNES, Z2)
33, 000& #2304 A~ *33] 22,770
Ay (BNES, I2)
180,000 *230H A %13 41,400
FAAAES(IHE=, 2els)
10,0003 x223 1 A 43| 8,920
- FELANE2(1HES, 2tE)
100,000 #2230 A= *23] 44,600
[ S| 4,000
O 022 &34 &l
8,000& x5+ 100 4,000
202 44| 2,800 2,800
01 2L Y| 2,800 2,800
O] DISAdEE AIEEA
20,000 x4 x 18 1,440
(] DISAE SE2HAF 912
80,0003 x 1 * 17 1,360
206 M=H| 6,000 6,000
01 =4I 6,000 6,000
O DISMdEE ASSHE P2A(HA)
8,000 *230 0 A *33] 5,520
] HIACHH] HIS2X P (X0 A A F)
6,000& *80kg 480
AR =T AL HEH(FEALS) 429,000 429,000 0
= 300,000
Al 129,000
401 A& HI L 204 429,000 429,000 0
< 300,000
Al 129,000
01 Al&HI 429,000 429,000 0
O A2 =S AE HSAIE (ZA) 429,000
O XA CHH12I(08H) ARES4A1A O
S A 229,000,000 * 1A 229,000
& 160,000
Al 69,000
O SHtH HEL|(FEE) ARESEAE
HEEZ2 AL 200,000,000 x 14! 200,000
= 140,000
Al 60,000
S XY H=2 SAMEAY 100,000 300,000 200,000
& 30,000




SN MBS
B MBACAM BHE U SEYA
Rl DISd==ZAIE g 2 =22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 70,000
401 AIEHIX 20 100,000 300,000 A200,000
=S 30,000
Al 70,000
01 AlZ8| 100,000 300,000 A.200,000
O sS4 S=32(HEel) A72===AE i
SN 100,000,000 * 14! 100,000
< 30,000
Al 70,000
A2 TAIEEAAR R 76,000 60,000 16,000
= 23,000
Al 53,000
401 AIZHIX S0HH 76,000 60,000 16,000
=S 23,000
Al 53,000
01 AlZ28| 76,000 60,000 16,000
0 ARSHTALBOAAE 25
4,000,000 *19CH 76,000
< 23,000
Al 53,000
St= THOIZAIE EXIALY 10,164,540 11,417,140 1,252,600
= 1,800,000
[ 676,000
Al 7,688,540
OlEotXel& XA 5,562,000 3,597,000 1,955,000
= 1,500,000
== 658,000
Al 3,394,000
401 AIEHIZ SR HYI 5,562,000 3,597,000 1,955,000
= 1,500,000
= 658,000
Al 3,394,000
01 A28l 4,738,200 3,087,300 1,650,900
0] OtZot=SLXIAIE SEMIS
4,738,200,000& x14] 4,738,200
= 1,284,000
= 562,000
Al 2,892,200
02 Zeltl 800,000 500,000 300,000
U OtESt+=Z2XCIAE SEAE 2SS
800,000,000& *14] 800,000
= 216,000
= 96,000
Al 488,000




A Aots=EDt
T MOEAE B 2 LRI
Sl BHAT THOIZAIE EXIAY (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 Al CHYI 13,800 9,700 4,100
[ OIEGt=SL A SEAMS AR
af 13,800,000 & 14! 13,800
ot AlE RX2el 4,112,540 3,931,140 181,400
201 Lt | 62,340 62,340 0
01 At 22|l 5,940 5,940 0
[J 2Bt~=ZH| 5,940
O =BT ("st, &2, &3) 23|
ANAERIZIRS a2
165,0002 *3H 2+ 123 5,940
02 E324H| 56,400 56,400 0
O 3322 £ HAl 38,700
O ti=EZ&(Za, &3, 83) 0gE)|
MNEZ 3,500,000& x304 2 +3& 31,500
O ti+=Bo&("st, &3, &3, 242=)
M| MEZ
150,000 #4012+ 123 7,200
[0 H=H| 11,700
O ti=EZZ(Z3l, &2, &3) Hlaud
Il |*FH
1,300& %6002 | E4 *30H 2 #5353 11,700
[ A& &EHIS bl 6,000
O ti+=Bo&("st, &3, &3, 242=%)
A& &HIs XY 1,500,000 *4JH 2~ 6,000
307 2I2+01 A 168,800 160,800 8,000
05 QIZtRES 168,800 160,800 8,000
O B+BEIZ (B, 93, 23, 2294)
2IEr2te|d] 168,800,000 * 14! 168,800
401 A& B2 20HY| 200,000 200,000
01 AlEHI 200,000 200,000
O 2201A s 2
200,000,000 * 14! 200,000
402 BI2HR=0l M 3,681,400 3,508,000 173,400
03 Q12+ EFALS I 3,681,400 3,508,000 173,400
[ St==d Xl MelAld 2I2IIEf2F|
8,950,000& =123 2,507,400
[0 SQIHCIAIE BIZHRIE 2 F|
94,500,000 12& 1,134,000
O ot==d Xl MelA83H 21gEU=]
25,000,000 14! 25,000
[ SIHMelAIZ& &l 22 =MHail|
15,000,000 & * 14! 15,000
ZEAl 2H0IB3ot==HelAld EXIAS 500,000 0 500,000
= 300,000
= 18,000
Al 182,000




SN MBS
HE: MBECAM BHE U SZOHM
Sl BHAT THOIZAIE EXIAY (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 500,000 0 500,000
= 300,000
== 18,000
Al 182,000
01 Al&HI 496,400 0 496,400
[] 20IZRS4HEIAE EXA
496,400,000& x14] 496,400
= 300,000
== 18,000
Al 178,400
03 Al 20HHI 3,600 0 3,600
[] 20I2REI4FEIAE EXAL
3,600,000 *14! 3,600
S8 ot=XcelAlE AZAIY 14,809,000 7,811,000 6,998,000
= 10,266,000
S 958,000
Al 3,585,000
2 SX sHE0So+=E EXIAY 8,352,000 1,235,000 7,117,000
= 5,846,000
[ 527,000
Al 1,979,000
401 Al HIZL S 0HYI 8,352,000 1,235,000 7,117,000
= 5,846,000
s 527,000
Al 1,979,000
01 A<l 7,853,200 1,030,600 6,822,600
[ 02 SX sHE0tSo=E EXIAMY
7,853,200,000& 14] 7,853,200
= 5,511,000
=S 499,000
Al 1,843,200
02 2/l 478,000 200,000 278,000
O 02 SXl sOoENSo=T EXIAM &
clEd 478,000,000& x14] 478,000
= 335,000
S 28,000
Al 115,000
03 Al 20HHI 20,800 4,400 16,400
O 02 SXl s0ENSot=T XA Al
E20bI 20,800,000 & =14 20,800
=2 HE0 sHENSoH=E EXAE 4,690,000 156,000 4,534,000
= 3,283,000
= 299,000
Al 1,108,000




SN MBS
B ABACAM BE U SEYA
C9l: 2P SHAMRIAIE ALY (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 4,690,000 156,000 4,534,000
= 3,283,000
== 299,000
Al 1,108,000
01 A<l 4,422,400 154,900 4,267,500
0 22 SIS0 S0E0ISsi4E &XAIL
4,422,400,000& *14] 4,422,400
= 3,105,000
S 283,000
Al 1,034,400
02 2l 255,000 0 255,000
[ 22 S0 S0&0IS5i4E SXIAI
&S 255,000,000& *14] 255,000
= 178,000
< 16,000
Al 61,000
03 Al 2CHYI 12,600 1,100 11,500
0 &= gd=0t s0E0tScte= EXIAIE
A28 12,600,000 x 14! 12,600
s4 85 sOHENSot=E EXAIE 367,000 506,000 139,000
= 257,000
= 23,000
Al 87,000
401 AlEHIZ S 0HbI 367,000 506,000 139,000
= 257,000
< 23,000
Al 87,000
01 A=l 364,400 502,400 138,000
O s4& 23 sHENSo=E EXIAME
364,400,000 * 14 364,400
= 257,000
< 23,000
Al 84,400
03 A2 THYI 2,600 3,600 1,000
O s4& 83 sHENSO=E EXIAME
2,600,0002 %14 2,600
Z2E &I soHENSGHsE EXAY 434,000 605,000 A171,000
= 254,000
= 38,000
Al 142,000
401 AlZHIZ 2018 434,000 605,000 A171,000
= 254,000
= 38,000
Al 142,000




SN MBS
B ABACAM BE U SEYA
C9l: 2P SHAMRIAIE ALY (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 Al&HI 330,900 601,200 /270,300
O 2& 2J| sHENSot=E EXIAE
0,900,000 *14] 330,900
= 195,400
< 29,300
Al 106,200
02 Zeltl 100,000 0 100,000
O 2@ 20| SOE0I2614E AXM 2
clE9 100,000,000 x 14! 100,000
= 58,600
S 8,700
Al 32,700
03 Al = THHI 3,100 3,800 AT700
O Z& &) sHENSSE EXAMY
3,100,000 14! 3,100
Z2E F0F sOHENSOHe=T EXAY 290,000 429,000 139,000
= 203,000
= 18,000
Al 69,000
401 AlZHIZ S OHbI 290,000 429,000 139,000
= 203,000
= 18,000
Al 69,000
01 A=l 288,000 426,000 138,000
O 22 70F sHENSot== ZXIAME
288,000,000 x 14 288,000
= 203,000
= 18,000
Al 67,000
03 Al 2 THHI 2,000 3,000 21,000
[ 22 0 sHENSGHsE EXIAY
2,000,000 *14] 2,000
20t Y sOEDtSot=E 2XAIE 176,000 429,000 253,000
= 123,000
= 11,000
Al 42,000
401 AlZHIZ SO 176,000 429,000 A253,000
= 123,000
= 11,000
Al 42,000
01 AlZHI 174,800 426,000 A251,200
[ =0t 08 soHENS6tsE EXIAY
174,800,000 x 14 174,800
= 123,000




SN MBS
B ABACAM BE U SEYA
Chel: SM ot lAld AL ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 11,000
Al 40,800
03 Al 2 0HHI 1,200 3,000 1,800
[ X0t B SOE0I2514E AXIAe
1,200,0002 %14 1,200
OtL &4 sOHEOSO=E SEAMY 500,000 0 500,000
= 300,000
= 42,000
Al 168,000
401 AIZHIX R0 500,000 0 500,000
= 300,000
= 42,000
Al 158,000
01 Al&HI 496,400 0 496,400
O OHE &4 SOE0I2514T S&AY
496,400,000 x 14 496,400
= 300,000
= 42,000
Al 154,400
03 A2 THYI 3,600 0 3,600
O Ot &4 sHENSSHE SEMY
3,600,000 %14 3,600
OtSot= =X2c 1,583,500 1,470,100 113,400
OtSot=k =Al2el 1,583,500 1,470,100 113,400
401 AIEHIZ SR 0HYI 200,000 222,000 22,000
01 Al&HI 200,000 222,000 22,000
U OtSot==k 218 25 SAt
200,000,000& *14] 200,000
402 QIF X201 & 1,383,500 1,248,100 135,400
03 2I2+RAETAIS I 1,383,500 1,248,100 135,400
[ ARQ0IS38I45 DIztglst2ay|
1,366,000,000& *14] 1,366,000
O 21 20tSot=S AIZ8ZEH| 288~
al] 500,000 3574 2 17,500
Ot=2t2 HHIAHY 9,097,000 8,661,000 436,000
= 4,986,000
s 152,000
Al 3,959,000
ot=2t HEH| BILAIY &ICHE 5,898,000 5,885,000 13,000
= 3,978,000
Al 1,920,000
402 BIZtAH=01 A 5,898,000 5,885,000 13,000
= 3,978,000
Al 1,920,000




SN MBS
B ABAECAM BE U SENA
el ot2t2 HHIAMY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 5,898,000 5,885,000 13,000
O Sh=2t1EHl Y 2ITAIH(BTL) U=
5,898,000,000& x14] 5,898,000
= 3,978,000
Al 1,920,000
BILAIE =29 1,350,000 1,520,000 A170,000
307 21201 & 1,350,000 1,520,000 A170,000
05 git?(& = 1,350,000 1,520,000 A170,000
[ 84274 BILAIY 22|
337,500,000& *4= | 1,350,000
2ot Z YU TAL 1,016,000 1,016,000 0
= 508,000
== 152,000
Al 366,000
401 AlEHIZL SO 1,016,000 1,016,000 0
= 508,000
=S 152,000
Al 356,000
01 AlZ8| 1,012,400 1,012,400 0
0 =ot=2t2 LA 9
1,012,400,000& *14] 1,012,400
= 508,000
= 152,000
Al 352,400
03 Al 20HHI 3,600 3,600 0
0 ==ot=2t2 FYXA EH
3,600,000 14| 3,600
& Xel7Y ol=2t2 A 833,000 0 833,000
= 500,000
Al 333,000
401 AIEHIX R0 833,000 0 833,000
= 500,000
Al 333,000
01 AlZ2H| 827,800 0 827,800
O Z&Xc7S ot=2=2 ZHIAIE
827,800,000 *14] 827,800
= 500,000
Al 327,800
03 Al 2CHYI 5,200 0 5,200
O ZaXMel+9S o222 ALY
5,200,000 14 5,200
YA HHI(Aot+=Em) 2,100 2,100
J1I=28Hl 2,100 2,100
JlEZdl(&st=c) 2,100 2,100 0




FA: Aot
M HAPAZH|(6t+=ZD)
=91: Jl=3dl (EH9): ®2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
202 04l 2,100 2,100
01 =LHAHI 2,100 2,100
O 5145 22201
20,0003 x5 21 2,100
Wegs (st 11,700,000 11,000,000 700,000
LIS HHKIZ 11,700,000 11,000,000 700,000
R AHHXIE (&=t 11,700,000 11,000,000 700,000
701 JIEtRI HISHES 11,700,000 11,000,000 700,000
02 BIIHEEI NS NEES 4,900,000 4,000,000 900,000
O d===3) LS8 FYEHES
2,200,000,000& *14] 2,200,000
U ot+==30IHSEH ZYHES
2,700,000,000& *14] 2,700,000
03 SIIHELINANNE2HES 6,800,000 7,000,000 A.200,000
O &= 3J LS8 H2HE=
4,800,000,000& =14 4,800,000
O ot==3) S8 H N2HES
2,000,000,000& *14] 2,000,000




